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1. A particle is released from rest at a hei
A to point B (see Figure).

(a) What is the velocity of the particle at point A? Write your answer in 2 SF.
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(b) Calculate the height H. Write your answer in 3 SF.
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(c) How long does it take the particle to reach the ground? Write your answer in 3 SF.
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(d) What is the velocity of the particle just before impact with the ground? Write your

answer in 3 SE‘. O
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A car starts a trip from Dammam,
Immediately,

(a) Calculate the average velocity of the car for the whole trip.

Give your answer in m/s.
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(b) Calculate the average speed of the car for the whole trip.

Give your answer in m/s.
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2. The figure represents the straight line motion of a car.

t =2 hours?
Give your answer in m/s%.

(a) What is the acceleration of the car between t = () and

v (km'h)
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goes 400 km in a straight line to Riyadh in 3.5 hours.
the car is turned around, and returns to Dammam in 4.0 hours.
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(b) What is the distance traveled by the car fromt=0tot=35h?
Give your answer in neetess|< o rio |¢ re .
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1. Anobject starts from rest at the origin and moves along the x-axis with a constant acceleration
of 4.0 m/s2. Find its average velocity as it goes fromx=0mtox=10m.
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2. The figure shows a velocity-time graph of a runner. If the runner starts from the position

x = —=2.0 m, find his position at t =4.0's.
v (m/s)
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